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1	Introduction
The purpose of the present tdoc is to summarize the calibration results for the indoor industrial channel model in the email discussion [97-NR-10] Channel model and calibration. 
[97-NR-10]
Email discussion/approval using the tables in R1-1907758 as a starting point for additional modeling of IIIoT and to converge on calibration assumptions until 7/12, followed by calibration results till next meeting – Henrik (Ericsson)

2	Calibration assumptions and metrics
The assumptions and metrics for the calibration campaign have been agreed in [2]. In the email discussion following this agreement, some further issues and need for clarifications were identified as follows: 
· The factory hall heights were not clearly specified. In the email discussion, it was proposed to use 25 m for sub-scenarios 1 & 3, and 15 m for sub-scenarios 2 & 4. 
· It isn’t clear whether metric 3) “CDF of delay and angle spread (ASD, ZSD, ASA, ZSA) according to definition in Annex A.1 of TR 38.901” should be determined for all links or only for serving links. In the email discussion, it was proposed to use only serving links, similar to previous calibration campaigns involving UMa/UMi/InH.
· Metric 4) “CDF of first path excess delay for serving cell” isn’t considered since the statistical model for the absolute delay in NLOS has not yet been agreed
· Cluster scaling factors to be applied in Step 7 are not available for the agreed N=25 clusters. In the email discussion, it was proposed to use the scaling factors for N=20. 

3	Calibration results
Calibration results have been contributed from four companies: Ericsson, Nokia, ZTE, and Huawei. These results are in the attached excel file. 
A set of comparative CDF plots of the calibration metrics are shown in the Appendix. 
Note: in the excel file and the plots the scenarios are referred to using their old names. The following is a translation from the old names to the new names:
Sub-scenario 1 => InF-SL
Sub-scenario 2 => InF-DL
Sub-scenario 3 => InF-SH
Sub-scenario 4 => InF-DH
Sub-scenario 5 => InF-HH
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Appendix: CDF plots of calibration metrics
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